a(o @) (rad)
a(d cot(d))

H
S
o

1072

-
¥
w
-
2
N

“4LEEHT - H

IR ]
=2 -1 0 1 2 3 > o 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

1

o
C

~ .
[0 L L b L
| l
S RARENRARRERE
|

N

=

SICEWACL
oloa) (cm)

0'_

[3)]

1A A ’y n b i H Y ET
i T j i i ; : B 1{eis 1T
4 414 g ! 1| : : | !
| H il : | I : 11 41 4 4
4 : K f : f
R B " b "
! b ! b !
" b 4 B !
b ! 1 : : :
107 L ETTEER L 107 $[11 ]
[ BT TR - [ 4] L A | b B
L. L. q ‘an &V '!
. - :JI.
o AL IREARARARARAARARARARRARANARTAREARAARRIIEN] A o A AR EREARARARIARARRARAR T AARARANAR(TA A A RN A1 I
JRE: o E A RN R g bt i i
E LT (UL o (B el I ([ERIIA Y (HIN1e) -
1l O o R S E R AR kB e F 1 e
F g i f ] 1 0.5F - R | S
o H H H - 118 .
3 3

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=

owp./p,)

JEny
S
[

1072

15

Ratio

iy

J I c
|
N

-1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


